| dE/dx estimator 1 |

0.25

0.2

0.15

0.1

0.05

Entries
Mean

Std Dev

25396
2.508
1.609

Mean

Entries

25397

2.506

| dE/dx

estimator 2 |

Entries

Std Dev 1.609

HE 3

2 3 4 5 6 7 8 9 10

. 25396
= Mean 2.395
0.25H--- ____ St.d Dev. 1.587|
1 Entres 25397
o : : i | Mean 2.393
0.2H---- ................... ....... St.d Devl .1'588
0.15H - .................................................................
0.1+ ..................................................................
L] O T o St R S S S
J_.\_Q_ Illill J||| 1 i 1111 i 11 T;I _i
E 4|
1} ----- -0- T -0%0-
B : <
B -
o -

0.95

01 2

34 5 6 7 8 9 10

=—=— DQM_TT__mkFit-DQM_init_orig

0.15f

0.1H

P T

0.05

=—e— DQM_TT__mkFit-DQM_init_modi2

CTTITeS ZIOIU

25396

T TuTeS

i [ Mean
.| Std Dev

5.287
5.476

¢ | Entries
¢ | Mean
:.[ Std Dev

25397
5.284
5.476

1.

T =F-T 1T

10 20 30 40 50 60 70 80

: | Entries
: : : : ¢ | Mean
...... feeceeiaboebodoL L Std Dev

P e Peeeeeee :-[ Mean
: : : : |_Std Dev

0.2671
0.6019

0.6019

25397
0.267

L R o il

T

=

S i o 3

0.95

o

10 20 30 40 50 60 70 80




	Contents
	Page 1


